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PAPER-2

Physics : Q. 1t0Q. 50
Chemistry : Q.51t0 Q. 100

Biology

. Q. 101 to Q. 150

PHYSICS / Wifdemyme

A block of mass of 1kg is moving on the x axis. A
force F acting on the block is shown. Velocity of
the block at time 1=2s 1s — 3m/s. What is the speed
of the block at time ¢ = 45 ?

F(N)

5
I
' \3 a4 5
I
I

0

1 2\ “t(sec.)
CN 1 ittt

(A) Sm/s
(C) 2m/s

. Two particles P and Q are moving on a circle.

At a certain instant of time both the particles
are diametrically opposite and P has tangential
acceleration 8m/s?* and centripetal acceleration
5m/s? whereas Q has only centripetal acceleration
of 1 m/s?. At that instant acceleration (in m/s?) of P
with respect to Q 1s :

001. Z=UH lkg &1 Ush &cAteh x 318 W A9 8 36 W

HIA o F AR 8 | 999 =25 T lich o1 o
— 3mls & A AT =45 T SATH ! =161 FAT BT ?
F(N)

5

; \3 4 5
0T 2 N\ | t(sec)
I

(A) S5m/s (B) 8m/s
(C) 2m/s

. T HY P qYT Q U I W T o @ 7| TRl e

2T o1 ATEdfa & 991 P o TIIHE ceu
8 m/s? qAT TIYRIET o1 Sm/s? B FeIleh Q had
TRk lEd T 1 m/s? a1 8 | fer U &or w Q
o AU P 1 @ (m/s?H) B :

(A) 12 (B) 14 (A) 12 (B) 14
(C) /B0 (D) 10 (C) /80 (D) 10
2-BB | | Contd...
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003. Inthe given figure, atmospheric pressure Py=1amm | 003, fa3 4 amqysea g@ P, =1 atm =1 Uit TqY &
and mercury column length is 9cm. Pressure P of S 9cm @ | Al § UiEg 79 1 e« P &=
the gas enclosed in the tube is : BT ?
P,=1atm P,=1atm
liquid fzzzz22| f guidEszz232 4
_P=c-2ZZ(9cem _F-ZIZZIZZ9cm
Hg “Ec-czz:zz| Hg “E-czz:zzf
gas gas
P P o
N
(A) pressure of 85cm of Hg (A) 85cm Hg &4 I« E:S‘;
(B) pressure of 67cm of Hg (B) 67cm Hg &Y g€ i%x
: T
(C) pressure of 90cm of Hg (C) 90cm Hg ¥4 I« 'EE%\
(D) pressure of 78cm of Hg (D) 78cm Hg &Y g€ a%:
:'\ fd
X
FARN
004. PV diagram of an ideal gas is shown. The gas | 004. Ush AT T 1 PV @ <=1 T 2 | 1E i LQ,
undergoes from initial state A to final state B such YRR 3TTEAT A H IH(qH AT B G TshH 39
that initial and final volumes are same . Select the g B o ITivresh e 9 SAfqw SrrEdH q9H |
correct alternative for given process AB. feu T AB e o forg @et fohed =12 <
Pt A Pt A
B
B , v g V
(A) process is isochoric (A) shH THIIAH B
(B) work done by gas is positive (B) T4 20 & eHH 3
(C) work done by gas is negative (C) T8 gRI 1 RS 2
(D) temperature of gas increases continuously (D) 19 &1 919 IR dedl &
005. A small object of mass of 100gm moves inacircular | 005. T E1Ld B &1 ge9mE 100gm 2,98 Th
path. At a given instant velocity of the object is Jlhl 9Y g 71 st 81 foRel o W osE I%q <l
10/ m/s and acceleration is (207 + lﬂj}mfsz. At T 107 m/s AT T (20 + lﬂf}mﬂvz 2 39 &l
this instant of time, rate of change of kinetic energy W TG i s el 4 uiady < 2t 2nft .
of the object is :
(A) 20 kgm?s3
(A) 20 kgm®s—> L .
B) 200 kg :
(B) 200 kgm?2s3 (B) g
. e
(C) 300 kgm?s3 (C) 300 kgm*s
i a3
(D) 10000 kgm?s-3 (D) 10000 kgm~s
2-BB | [3 | P.T.O.
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006. A time varying horizontal force (in Newton)
F = 8|sin (4xf)| is acting on a stationary block of
mass 2kg as shown. Friction coefficient between the
block and ground is 1= 0.5 and g= 10m/s”. Then
resulting motion of the block will be :

2kg F; F
AN RN

(A) It moves towards right
(B) It will oscillate

(C) It remains stationary

(D) It moves towards left

007. Take Bulk modulus of water B = 2100MPa. What
increase in pressure 1s required to decrease the
volume of 200 liters of water by 0.004 percent ?
(A) 84 kPa (B) 210 kPa
(C) 840 kPa (D) 8400 kPa

008. Thin semicircular part ABC has mass m,; and
diameter AOC has mass m,. Here axis passes
through mid point of diameter and the axis is

perpendicular to plane ABC. Here AO=0C=R.
The moment of inertia of this composite system

about the axis 1s:
Axis
A

009. In Young’s double slit experiment, the path
difference between two interfering waves at a point
on screen is 13.5 times the wavelength. The point is:
(A) dark
(B) bright but not central bright
(C) neither bright nor dark
(D) central bright

006. THY UiEd] &fqs o (|gea °H) F = 8|sin (477) |

T T | W 2kg % ik W REHER @€ 2
Tgf seAfeh 9T ST o He B UM 4= 0.5 aAT
g=10m/s> 8| ST i YIOTH 7T Bt

2kg — F
ANLLAUAR VARV AR RNN RN NN

(A) =t @ wifa s
(B) e &M

(C) fom # & @
(D) &rRft @t Tifd sam

. &l S I A IRl UM B = 2100MPa

AT | St & 200 et 3TEET = 0.004 gfasa
"o o e feha 2@ gftgdd s1avgs & 7

(A) 84 kPa (B) 210 kPa

(C) 840 kPa (D) 8400 kPa

. 9dd 3G guRR 9T ABC %1 Go8HM m, & a0
S| AOC 1 G3HH m, 2 [F8] =41 % Hed foig
H 3181 TORAT 8 @1 9 ABC & ofraiad 3181 & el
AO=0C=R 2 | 38 & ™ I 30 378 (axis)
AXxis
A

2 H’IERE m|R2 .‘anE

(A) mR"+ B (B) D) 3
mR*  mR* m- R*

@ 5 ¢ (D) mR*+ =3

. I o g JE H 9g W U fag W oSATdR

T Gl 31 qUN  HEI 9Tl duesd & 13.5
(A) 3F<H

(B) & 9 hai dH &

(C) 9 i €™ 7 & 37|

(D) *=51d <M

2-BB | [4]
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010. A ball having velocity v towards right and having | 019, ue Te fSge 2féqumad wivfig o 2, I8 <rRff T
angular velocity clockwise approaches the wall. It ATy W TH AR B A T @ 2| FEn o
ca]hd?s elastically with wal} a.nd moves towards I8 o T AT 2 g1 T8 AT A et 2 |
left. Ground and wall are frictionless . Select the 3 5 ¥
correct statement about angular velocity of the ball Eil 3 o S =R ,l AT % WY @ F 91G
sHetaollisin, g o IV 71 o IR H Hel HeH =99 Bl -

—\m \m
v v

(A) Tt will be clockwise (A) gferomed gft B
(B) It will be anticlockwise (B) amrad arft EE%\.
(C) It becomes zero (C) 8 Y & St 7 i:(g:
(D) Angular speed decreases (D) SV 9T Tedl 3 a:n:

£SO,

L _ |

011. Which of the following particle will describe the | 011. = vl ® & a1 Hv1 gag B Br= 1 9 52:
smallest circle when projected with same velocity SHIET 576l I8 Grachi & o aread 99E 9T ¥ (@) i
perpendicular to magnetic field ? geifud feham st 7 7 g
(A) electron (B) proton (g] 3H5|+| 5' E ([B)} ELil_? |
(C) He' (D) Li" () Be ) L

012. A loop PQR carries a current of 2A as shown. A | 012. F=3H¥R % 9 PQR # &I 2A & | U &AM
uniform magnetic field (B=2T) is parallel to plane ﬂ'ﬁﬁ'ﬂ &3 (B=2T) o9 % dd & gHT=R & | v
of the loop. The magnetic torque on the loop 1s : L8 ﬂﬁl?ﬁ'q alTElgf 3

. |E’ N | 3

I

T —— ,
(A) 4 Nm (B) 16 Nm (A) 4 Nm (B) 16 Nim
(C) 8 Nm (D) zero (C) 8 Nm (D) =

013. Thesidesofarectangleare 7.01 mand 12m. Taking | 013. Ush A/ hl ‘{-]JGIT@;' 7.0l mTAY 12m 2 | Tk el
the significant figures into account , the area of the I o U ST &THA B
rectangle is : 5 5
(A) 84m> (B) 84.1m?2 () S 2 (B} &l :

(C) 84.00m? (D) 84.12m? (C) 84.00m (D) 84.12m
014. In steady state, charge on 3uF capacitor is : 014. AR TS H 3y F HTHA T A BI:
18V 18V
6LLF 6MF
60 6Q
60 I_ 60
3uF | SuF_L
(A) 54 uC " (B) 36uC (A) 54 uC (B) 36 1C
(C) 27 uC (D) 18 uC (C) 27uC (D) 18 uC
2-BB | [5] | P.T.O.
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015. Consider one dimensional motion of a particle. | 015, we v < foqu ues forfim wifa <ifSrw | =gt < v qon
Velocity v versus time ¢ graph is shown. Which TOF ¢ % UEF U SNTET T B RIET U6 GHYT ¢
graph is most appropriate for displacement x versus 5
s % AU e x o Ted 39ITH Y ¥ gl B |

v LA
Y
L, =1
X X X WX
(A) (B) : (A) (B) :
t t t 0 t
x q,x x $*
0 o ! 0 t 0 : 0 t

016. An object of mass 26kg floats in air and it is in | 016. TEIHE 26 kg I a&] g1 H Tl HTET
equilibrium state. Air density is 1.3kg/m® . The feafq ® 8 | 891 1 99cd 1.3kg/m® B | I%q I
volume of the object is : TG BT
(A) 26 m° (B) 10 m? (A) 26 m3 (B) 10 m3
(C) 20m’ (D) 13 m? (C) 20 m? (D) 13 m?

017 In the given circuit cell E has internal resistance of | 017. feu 7u ufigy § ¥ E 1 G 9y r= 20
r= 282 . What is the value of resistance R so that 2| gfdg R &1 AF 1 BH1 18T a1fes falig R
power delivered to resistor R is maximum ? 1 YgH <l T8 Wit SAferesad Brft ?

(A) 1Q (A) 1Q
(C) 3Q (C) 3Q

018. Two cylindrical rods A and B have same resistivities | 018. &I SRR B A 99T B sl Sfatierehd @9 & 991
and same lengths . Diameter of rod A is twice the s o gHE R | DS A 1 IH B B & IH
diameter of the rod B. Ratio of voltage drop across &1 AT 2 | B8 A W diced] %l 9 B W dieed]
rod Atorod B is: %;meraqgcnaém%? '

A B ’
—U Fa 4 —{ - 7
iE |
I'E
1 |
1 1 1 1
SR B 3 (A) o B %
() 2 (D) 4 (C) 2 (D) 4

019. Whichofthe following material is not ferromagnetic | (19, = & § 197 yerd wegrerhed H%hi“f'l TR 27
in nature ? |
(A) Al (B) Fe (A) Al (B) Fe
(C) Co (D) Ni (C) Co (D) Ni

2-BB | [6] | Contd...
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020.

Three small balls of masses Ikg, 2kg and 3kg are | ¢20, ZeqqH lkg, 2kg TT 3kg &I d9 Bt Te b B
moving in a plane and _thelr velocities are 1 m/s, a0 3 SR 1 m/s, 2 m/s AT 3 m/s re| ﬁqw
2m/s and 3m/s respectively as shown. The total T e @ # | e e e W P % T d=
angular momentum of the system of the three balls W2 ¥ Frem @5 FIO HoT 2
about point P at given instant of time 1s : ¥ /3m;s'
3m/s
1k ke 2k 3kg
i i s/ im 2Zm/s
L‘L ----------- 2kg P Zkg
P 2m T 3
(A) 7 kgm?s! (B) 8 kgm?Zs~! (o) Txpm s (B) St
(C) 9 kgmzs—l (D) 36 kgmzs—l (C) 9 kgm-=s (D) 36 kgm S
021. Three identical resistors each of resistance R are | g21. 9 Ueh T gfauy 598 giss &1 gfady R 2 1
connctd 10 an el cell o slage Va8 shown .| ™y s 3 S et 3 g s o 8.4 5
. T o sfeial § $a1 =t ol gt
V= vV
2V” 3V? 2V? 3V?
X)) S B) S5 =
(A) 3r (B) 21; (A) 3R (B) g
& SN V- 3V? V2
(©) R (D) 3R (C) I (D) 3R
022. For given logic diagram , output F=1, then inputs are: 022. fcu U g qfigy # ffd F=1, 99 e 2
_ A
- D DD
c—{>o c—{>o |—
(A) A=0,B=0,C=1 (B) A=0,B=0,C=0 (A A=0,B=0,C=1 B) A=0,B=0,C=0
(C) A=0,B=1,C=0 (D) A=1,B=1,C=1 C) A=0,B=1,C=0 (D) A=1,B=1,C=1
023. Consider two polaroids A and B as shown. [ 23, =zvrfu IR 31 dIeiise A 991 B T fomm fifsu
Volh e polishil ite Wisd plliioniy by | AW MU A SN B | o
180° in same sense of rotation such that at.ﬁvery gl ! Th @Y 180° T & faum |
instant, their pass(transmission) axes always T4 JhR | E@h fepart STt 2 fob Sredeh aor <
remain parallel to each other. During the rotation, T 3787 gHIN Teh @ % T & 2| E{Ph %
intensity of transmitted light through polaroid B : SITH YIoiiss B @ qrITfid Tehrsl <hl o
— A UB A UB
(A) decreases continuously (A) SR gedl B
(B) increases continuously (B) THIGR sl &
(C) first increases then decreases (C) 9gd uedl 8 T aIgdl 8
(D) remains same (D) ¥HH &l 8
024. Activity of a radioactive substance becomes from | 024, T iﬁ';-',ﬁﬁ'%u qa'[ﬁf 1 gispaar 8000Bq 3 1000Bq
8000Bq to 1000Bq in 12 Days. What 1s the half life a6 12 fea1 | 81 A 8 | gty ey &
of the radioactive substance ? 34,—5,‘311'3 T E?
(A) 3days (B) 4 days A) 3T (B) 4 f&=
(C) 6 days (D) 2 days (C) 6 fea (D) 2 fea
2-BB | [7] | P.T.O.
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025. The energy levels of a hypothetical one electron | (25, weh U Uh SeiseH THTY] ™ &+ el @

atom system are given by E, =— L—?ev, where E.=— 162 eV 8 J&l (n =1,2.3:5) 2 | 99 I8
n

TH IS ST F T TR § Hehuvl Ll 8 a6

n = 1, 2, 3,....The wavelength of emitted photon

corresponding to transition from first excited level Icqiold BieH hl qresd o gnfl .
to ground level is about : 5 "
(A) 690 A° (B) 1035 A° (A) 690A (B) 1035A
(C) 1220 A° (D) 3650 A° (C) 1220 A° (D) 3650A°

A 026. What is the voltage across an ideal PN junction 026. ﬁl‘:l‘laﬁr{ gfiqy o few o 311?;’5{[ PN @Y €™e

\C_}: diode for shown circuit ? Sreedr @1 Bt 7

®: i 2V

- I I Dl 14

:E:J ' I’ bl

©: A

% 100 Q 34

I\ (A) 0V (B)y 0.7V (A) OV (B) 0.7V
(C) 1V (D) 2V C) 1V (D) 2V

027. Power emitted by a black body at temperature 50°C | 027. q™ 50°C W U FHWieh! gRI Icatoid ARk P 2 |

is P. Now temperature is doubled i.e. temperature of
black body becomes 100°C. Now power emitted is :
(A) 16 P

(B) greater than P but less than 16P

(C) greater than 16P

(D) P

An experimenter needs to heat a small sample to
temperature 900K, but the only available large
object has maximum temperature of 600K. Could

37a FHUfiehT A9 QAT 7t 100°C X feam smam 2
d1 39 Ieafsd vtk B

(A) 16P

(B) P H 314 9= 16 P 4 %A

(C) 16 P ¥ AT

(D) P

. Uk JENfIe Uk BI gfdes (sample) %l 900K a9

deh TH AT dTadT @ Ui del g% (object)
IUcTey IYhdH d19 had 600K 2| T YIRTTEE

the experimenter heat the sample to 900K by using

g1 Terrrgan ot awg 9 faferwor &1 v w8 o F
2R gfdest W shied st gfdest &1 900K 19 T

ST Hehal & 7

a large lens to concentrate the radiation from the
large object onto the sample as shown below ?

0
\

sample

; EI | %ample

object lens

(A) Yes, +1fthe volume of the large object is at least (A) &, 3R T aE] I I gftrest % s
1.5 times the volume of the sample.

(B) Yes, if the front area of the large object is ?m“[ L.> T <ht feam < |
at least 1.5 times the area of the front of the (B) I, ﬁﬁaﬁww Wmaﬁﬂﬂ@
sample. &%l 1 H H A 1.5 TOT KL T =g

(C) Yes, if the sample is placed at the focal point (©) =, af wfiest #1 o % B ﬁ%tﬂ‘ =

(D) I8 |99 78l 7 |

object lens

of the lens.
(D) It is not possible

2-BB | [8] [ Contd...
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029. Consider a small electric dipole with magnitude of | 029, we B faga fgyga EehT fgga Ameet 1 9@
dipole moment p which is placed far away from point p & ST ﬁlﬁ A" FHTH T 1’%1'313'5]1‘{ @ AT 2 |
A as shown. The electric potential at the point A is : ﬁﬂ% AW ﬁ!@'ﬂ fovya 2 :
A p A p i
k p
(A) exactly zero (B) rf (A) Tfﬂ'ﬂ'l A (B) 2
- k k —k p kp
p D) —— S
030. A conducting loop (as shown) has total resistance | 030. ﬁ'zl‘l‘:[ﬁﬂ Ueh =llefeh o4 bl hed yfaeg R 3 | ™ E:":
R. A uniform magnetic field B = yt is applied % qc o oTredd UhaHH ehd &9 B =7yl G\
perpendicular to _plane Df_lhe loop where y ig a AR e Srar & =t y I % qem ¢ T 2 g-gz
constant and 7 is time. The induced current flowing e e T e ®)
through loop 1s : BN ' R
e g . 1 & l:.,p,
| 3 b| @B S
i L]
q I = I 9atat
“g Tt f Y .f
25 2 o ¥ 2 b+ a)y (b*+ a®) 7t
b+ b2+ a?) vt (
(A) ( Ra )7 (B) ( Ra )7 (A) 2 (B) 2
&~y @~ ) o G-ayr B d)n
© —% (D) = © % (D) R
031. A uniform disc of mass M and radius R is hinged at | 031. SFHE M g FS91 R ! Thad™ Iahd! b g C T
its centre C. A force F is applied on the disc as shown. icifehd & | Tsh 91 F bl Tehdl W ﬁl‘:ﬂg{:ﬂ? e
At this instant, angularracce]cralion of the disc is : P S | 3| Fl'ﬁ?[ <Tehd! o1 hIVI TIT0T &:
F ~_ F F F_
- 2 F .
©) MR D) 7Z MR © Mr D) A MR
032. The velocity of a particle is zero at time t=2 , then | 032. ¥HI t=2 YL U <hl o I Bl
(A) acceleration must be zero at t=2 (A) t=2 9 07 [ & B |
(B) displacement must be zero in the interval (B) t=0 ¥ t=2 a0 § &M= S & g |
(C) ;:c(:a[t:r;t:i(i may be zero at t=2 @) == K A #l g
(D) velocity must be zero for t>2 (D) t>2 % Toe < 31 &1 &P |
033. A ball moving in xy plane, has velocity (47 — 4j)m/s | 033. T& g xy T H A HA B G A ° @
just before the collision with ground. Coefficient of GCiED tﬁi am (4: — 4 )Ym/s 2| TE o ToTu e
restitution for collision s ¢ = + What will be velocity O e= %l SHIH | &t < dish 94T TG
of the ball j 8 after the collision with ground? o =T EﬁT [4
y O y
b N
mL’ X mL X
(A) (4i+4))mls (B) (2i+2))mis (A) (4i+4))mls (B) (2i+2))mls
(C) (4i+ 2))mls (D) (2i+4))mis (C) (4i+2))mis (D) (2i+4)mis
2-BB | [9] | P.T.O.

gcollegeduniaﬁ

T



034. A light ray moving in medium- I (of refractive | 034, wep w9 foR0U  SyadATH n & HIETH-]
index #,) is incident on interface of two media 4 g T g}‘ 211 m%:q:cﬁ $1  FAddds
and it is totally internally reflected at the W AMAd Bl B T Aqdds 9 quiaEm
interface. Now refractive index n, of medium-II A wEfdd &6 28 | A9 HIEgH-11
is decreased, then :

(A) ray will be totally transmitted in medium-II. (A) fror Tﬁﬁ“ﬂ merg-11 § T B 2
(B) ray will move completely parallel to the (B) T JqdaE & T,m-[ TOT=aT St
SRR (C) TFw e off idgde W yoiaE AR
(C) ray will be still totally internally reflected at wrafdd anf
interface. (D) foror mem-11 # goigar fiE e
(D) ray will be totally transmitted into medium-II aft Bt S HUGd HIU "@ET STl
only if angle of incidence is increased. H

035. A light beam consists of two types of photons. | ¢35 we gy fFw § &1 TR & BlEH 2| T
In one type each photon has energy 2el and in IE H YAH WA Hl S 2eV ® A« @Q
other type each photon has energy 3el. The light @ T YOE BEE H B el 2 YEM

is incident shotoelectri terial of |
beam is lnvfildﬁn on ap oo.e ec I’IC. m‘fi erial o fFT T YE Faqaqmsz? e et
work function lel. The maximum Kkinetic energy

. . lev 2 38 W FRdl 2| 3N wlRSAwRH
of emitted photoelectron is : £ af —
(A) leV (B) 2eV SR T '
(C) 3eV (D) 4eV (A) del () 20

(C) 3eV (D) 4elV

036. A light beam parallel to axis is incident on | 036, =R 3O <&@l A, B, C @1 D % @ W
the system of four convex lenses A, B, C and AT & U= ghE R g9 3afad =Gl
D. Focal lengths of A, B, C and D are 30cm, 2l @9 A, B, C 941 D i hIhE  TEETST
10cm, 30cm and 10cm respectively as shown. S$AY: 30cm, 10cm, 30cm dAT 10cm &l T&I
Here fixed distance BC=20cm. What should be feor @ BC = 20cm 2l @& A a9l @& D
the distance between the lens A and lens D so % Ty gt Tt Rt =nfeu drfh stvedA &
that after refractions, rays will be parallel to ggrd TRt (region) &rs I, III d°q1 V S
axis in regions I, III and V? % AT & WY

~ €20cm> <20cm~>
Region-l f??lg'mﬂﬂﬁ'“ Regmnﬂ Rigi‘-"“ Region-l (\Reg'mﬂﬂeglﬂ Regmnn Region
ey —l 1 i ]!
A B C D A B C D
(A) 20 cm (B) 40 cm (A) 20 cm (B) 40 cm
(C) 100 cm (D) 80 cm (C) 100 cm (D) 80 cm
2-BB | [10 ] | Contd...
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037. A long silver tea spoon is placed in a cup filled | 037, wep o =€ & I I9g &l ™ I 4
with hot tea. After some time, the exposed end W 9 § W@ 6l 8 | FO THI 91¢ T
(the end which is not dipped in tea) of the H1 el fm (S 9 § e el %) ™ 8
spoon becomes hot even without a direct contact AT R owEl oaE oW ® @19 g9 ¥ A8
with the tea. This phenomenon can be explained o1 | TG YN TeI &V ¥ fre @ gmem S
mainly by: i
(A) thermal expansion (B) conduction (A) i TR (B) =M
(C) reflection (D) radiation (©) R (D) T S

038. Figure shows a nonconducting semicircular rod | 038, fom # xy 9@ ® U 3MEEF 3 JAHR TS
in xy plane. Top half (quarter circle) has uniform ol T R IO MY 9m (a’g’gﬁ'ﬂ ) T
linear charge density — Awhereas remaining half % T W@E Ay e — A & vEe 9
has uniform linear charge density + A. What is the A WM § u G9E YEE SR e + A 3
direction of the net clcctr:ic field at point P? 1%@' P 9T GRoTH ﬁﬂ'gﬂ a o fem @ A
(A) along +x axis (A) +x 4 a_iﬁm
(B) along +y axis (B) +y W& X 343%5[
(C) electric field is zero at point P, so direction (©) %?‘3 o faﬂﬂ &y = 2 3 fom w9 99

cannot be determined. £ 1 g 2

(D) along the bisector of x axis and y axis. (D) x 318 9 y & ¥ FZUH F 3;@-%31

039. A bead of mass m can slide without friction on a | 039. T Sdd dHIHI gfos g Smeh G
fixed circular horizontal ring of radius 3R having 3R 89 %5 C W g 3 W m GFAF &
centre at the point C. The bead is attached to one B Hshl %Fﬂ uuu % fREe TWehal @1 T
of the ends of spring of spring constant k. Natural Hl
length of spring is R and the other end of the >
spring is fixed at point O as shown in figure. Bead
is released from position A, what will be kinetic
energy of the bead when it reaches at point B ?

OC=4R 4A

(A) 12 kR? (B) 225 kR? (A) 12 kR? (B) 22—5;'(}22
(® %m? (D) 8kR® (C) %kRz (D) 8kR*

2-BB | [ 11 | | P.T.O.
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040. The total electrostatic energy stored in both the | 040. Ml FUTE B wted S feor fé'gl‘ﬁ A1 B

capacitors 1s :

~3Ve— |—|— -3Ve— |—]|—

3uF 6pF — JuF 6pF —
(A) 18 uJ (B) 9] (A) 18 u] (B) 9ul
(C) 40.5 ul (D) 13.5 u] (C) 40.5 ] (D) 13.5 4]
041. Gravitational force acts on a particle due to fixed | 041. TH THH 3 FSdd Ml % HRY Ush HI T
:5:; uniform solid sphere. Neglect other forces. Then TEcdE 96 Tl 8, 3 o A9 B | 99 I8
o particle VT
:5:;5 (A) experiences a force directed along the radial (A) haet Brsefa faum = srfaw & ot stgwa |
X P (B) &l fsefia foun o e e o)
@) ] _ o
B) always moves normal to the radial direction
;H\-‘%l ( a E ﬂ fé i
Of (C) always moves in the radial direction only. © fem = T I
(D) always moves in circular orbit, (D) BHEI i fet shim|
042. A block performs simple harmonic motion with | 042. e s HTRATERT fomg x =0 % HN& & A
equilibrium point x = 0. Graph of acceleration of the T AT 2 | SclTeh o @il i 99 o Feld & &Y
block as a function of time is shown. Which of the 0 Y% ST 7T 8 | scAieh b o) § HIHT h
following statement is correct about the block? gg R 7
a(m/s?) almi 5%

Tt y—-- -'—f\ 2 T _______
0 2 4\ t(sec) 0 m »
u 2 4\ t(seo)
-n2|- -'n:lU

(g) 3‘?’“@1‘1 1S m"l"l“?“m at ‘:_ﬁ' o | (A) t=3s 9T U I TA AHaT 2|
(B) atlsti T:mcn rom equilibrium is maximum (B) AT 38 5 3
(C) speed is maximum at t=4s. (C) t=4s T =TS 3AfGhay ¢ |
(D) speed is minimum at t=2s. (D) t=2s W I =aH 2|

043. There are two identical springs each of spring | 043. ITET 31 UshaHH 5 8§ 9 Yok o1 o e &
constant k. Here springs, pulley and rods are 2 | T8 scAteh 1 G390 m & a9 f&m, I qe
massless and block has mass m. What is the TS (rods) ZTINFEN B | GTEATEET § Yd® {8 i
extension of each spring at equilibrium ? feaw /B 7

mg 2mg mg 2mg
(A) % k B % k
mg Smg mg 3mg
©) D) 4 ©) 7 D) 2
2-BB | [12] [ Contd...
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044. Two tuning forks A and B produce 4 beats/sec. | 044, AT B g W 4 faqe /THvg I Fd & | B
Forks B and C produce 5 beats/sec. Forks A and C U1 C Wi 5 fowde /Save 3099 a8 a1 A a9
may produce ....... beats/sec. C G ....... Frwig [&evs vorm o a3
(C) 9 (D) 20 (©) 9 D) 20
045. A 10gm bullet moving directly upward at 1000 m/s | 045. T& 10gm =1 el 1000 m/s & FHef FU 7T HL
strikes and passes through the center of mass of B¢ fom | q@ 10 kg S9HH % =Tk o THUAT & &
[
a 10 kg block initially at rest .The bullet emerges AT I G g d TSR] g1 el HY FH EE:S:
. ;) 2L % e
from the block moving directly upward at 400 m/s. F % 400 m/s sk § ° g2 Fepad! 2 99 :;‘5‘
What will be velocity of the block just after the Tl st O 3Yeh STE TheTd] & 39 &0 scAteh a:o{
I
bullet comes out of it ? R
ST T B 7 70
_ CHX
A A
'bullet 'hullet
(A) 0.6 m/s (B) 1m/s (A) 0.6 m/s (B) 1m/s
(C) 0.4m/s (D) 1.4m/s (C) 0.4m/s (D) 1.4 m/s
046. Two identical balls P and Q are projected with | 046. & THTHH e P 99T Q Tk & THM ﬁ@ o !
same speeds in vertical plane from same point O 3O g § 99 9T § afds & 919 98997 i)
with making projection angles with horizontal 30° SHIST: 30° 9§ 60° W gaifed st St ® qor & g
and 60° respectively and they fall directly on plane 2 9 AB T HU: ﬁ,@ P'a Q' firet B Zh %
AB at points P"and Q'respectively. Which of the graey § S ey T & 7
following statement is true about distances as given
in options? o
Q. Z/QOM = 60° e iq“”‘:f’"n
é:" Z POM =30° " ZPOM =30
4 M o}
P 3 A B
(A) AP" = AQ' as there are complimentary :
o (A) AP'=AQ'®ifeh 3Teh J&YT HI0T Tk 10T 8
projection angles.
(B) AP'>AQ' (B) AP'>AQ
(C) AP'<AQ’ (C) AP'<AQ’
(D) AP'<AQ’ (D) AP'=AQ’
2-BB | [13:] | P.T.O.
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047. A string has a length of 5Sm between fixed points | 47,
and has fundamental frequency of 20 Hz. What 1s
the frequency of the second overtone ?
(A) 30Hz (B) 40 Hz
(C) 50Hz (D) 60 Hz
048. Displacement x versus t* graph is shown for a | 48.
particle. The acceleration of the particle is :
X x(m)
YC Jmensnrcnszs
Lo
@
;H\?%' 0 i .
‘%J 1 t’(sec?)
@ .
o (A) 2m/s? (B) 4m/s?
N (C) 8m/s? (D) zero
049. For given LR circuit, growth of current as function | (49,

of time ¢ 1s shown in graph. Which of the following
option represents value of time constant most

closely for the circuit?
i(A)

M" » ) . maximum=2R
T S e
s " D—
1 s frn

0.6 -,

71 Teor forgati % wexr Ueh W1 oh1 @ alTs Sm @ aol
3 goAyd AR 20 Hz 8 a1 fgerr safereen
AT w1 BAT 7
(A) 30 Hz
(C) 50 Hz

(B) 40 Hz
(D) 60 Hz

Ush U1 o TIEYT x T 2 G919 U AT T30

1 tlh(secl)
(A) 2m/s? (B) 4m/s?
(C) 8m/s? (D) ¥A

fgu m LR ftay & ama 6t gfg 1 999 ¢ & wer
% ¥ | e T 2l = § 9 s 9wy gftgy
& fou 11 AT & 9 o ged T97es & ?

i(A)

L. B ) L maximum=2R
1-5" s
I_—|II|-—{ :j TP S

0.6 =,

"

035 J? 035 09 14 t(sec)
(A) 04s (B) 0.7s (A) 0.4s (B) 0.7s
©) 1s (D) 24s (C) 1s (D) 2.4s
050. Radii of two conducting circular loops are band a | 50, 21 JThR dTch Fl\'cﬁ &I Brsam|d p dA1 o S8l
respectively where b > > a. Centers of both loops b>>a, aF % g GEA § AfRT T E’Eﬁ *
H A
coincide but planes of both loops are perpendicular ; .
to each other. The value of mutual inductance for i I Eﬂﬁ * fere
these loops : 1A @ :
foma’ {o7a’
@ =5 (A) 5
Lo Th* o Th?
B) =5 — B) T34
(C) zero (C) I
UoTrab
(D) = ¢ Mo Tab
2(a+ ) ®) 3 a+b)
2-BB | [ 14 ] | Contd...
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CHEMISTRY / @A

051. Which of the following molecules is optically | ¢51. =9 9 O =598 3] gehTiSTes Gfshg 2 7
active ? NO NO
NO, NO, 2 &
@ ¢ :
O C ” QO C
Br @ % o @
N0, no; | e o
(i) (i) i) ) i Bl EA
':f AN
(A) (i)and (ii) (B) (i) and (iii) (A) (i) 3 (ii) (B) (i) 3 (iii) ﬁ:s:
(C) (ii) and (iii) (D) (i), (ii) and (iii) (C) (i) 3T (i) (D) (i), (i) 31 (iii) K
L©
052. Which of the following statement is correct ? 052. A A FET FI9 9T 2 7 'EE%\.
E i * ) . ™S
(A) BCl; and AICl; are both Lewis acids and BCl4 (A) BCl 3 AICl, a-q'bl gé-g e B w6 BCl;, §
is stronger than AICI, AlCl, Y wIfehre 8 g
(B) BCl; and AICl; are both Lewis acids and (B) BCl, 3R AlCISaﬁ@éa A & T AIC;,
AICl, is stronger than BCl, BCl, o wifeamet 8
(C) BCl; and AICI, are both equally strong Lewis (C) BCly R AICl, THET HHE YITheITe] ﬁ?ﬁ
acid A B
(D) Both BCl; and AICI, are not Lewis acids (D) BCl,4 3R AlCl4 A1 ?j?esﬂ 3 a1 B
053. Consider the following compounds. 053. = feu mu Aifieni 9 9 TR Afrent =1 9" o & U
ShIeel ST URHTeTeRtoT 1 39T feRam ST Heha :
0 o
I I i i
©_c—cH3 @c—% @c—cHa @—c—cm
CH;0 H3C CH,0 H3C
I I1
{)ﬁ (IT) ﬁ (1)0 (ID) y
/©—C—CH3 @c—ma @g—CHg /©7!'2|—EH3
O,N (CH3);N O,N (CH3),N
Friedel {('I,‘H)f' lati b {l;) btain: - V)
:e ;, ;Hr?,f acylation ca},3n c:l;ls;:H t;:-vo tain: (A) LIIL IV (B) 1L IIL IV
e LT \5) B, (C€) LILIV (D) 1,11, 111
(C) LILIV (D) I, II, III
054. Provide the systematic name of the compound | 054. = wefia Aifies 1 safedrd T g
shown:
(A) 4-butyl—1 —ethyl -2 — methylcycloheptane (A) 4'3‘3:&-‘:[ - 1- TS - 2 - AR
(B) 4—butyl -2 —ethyl— 1 — methylcycloheptane (B) 4- et —2- TUA - 1- HiYeTEEaAGA
(C) 1—butyl—4 —ethyl — 3 — methylcycloheptane (C) 1- Sgfed -4-Tfua - 3 -BiUaasacge
(D) 2-—butyl -4 —ethyl — 1 — methylcycloheptane (D) 2- SFeA -4-TiYA - | -HTHTZFAGRA
2-BB | [15] | P.T.O.
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055. Give the IUPAC name for the following structure:
CH3
OH

cl
(A) 3 —chloro — 2 — methylcyclohexanol
(B) 2 — methyl — 5 — chlorocyclohexanol
(C) 1 —chloro—4 — methylcyclohexanol
(D) 5 —chloro — 2 — methylcyclohexanol

056. In aldol addition reaction product is always:
(A) P —hydroxyaldehyde
(B) P — hydroxyketone
(C) a, P —unsaturated aldehyde

(D) a, p — unsaturated ketone

057. Which one of the following compounds will have
the highest dipole moment ?
NO,

(A) @‘”02 (B) @—OH

DzN DZN

(©) @_ (D) @
OH

OH

058. The number of moles of Grignard reagent consumed
per mole of the compound :

H D\/Y\, COOEt

. Ta=1 g&== %1 IUPAC W il

CH3
OH

cl
(A) 3 - FARI - 2 - AfcEEFARTEH
(B) 2 - Afsret - 5 - FAREEFARFEIA
(C) 1 - TR - 4 - AfcEEFARFEHI
(D) 5 - ¥R - 2 - AfrcEETdRFaH

Ueeid FMTcHe JAMTRaT § Icq1e gHem 8N :
(A) B -BEHIIE RS

(B) B - BrSgaHhIeA

(C) a, B — ITEJH TeLlETsS

(D) a,p - GJHEIFI *IeH

. fre § @ R e % R fRya st @ A

aTfereRay g ?
NO,
(A) @‘”Dz (B) ©§_0H
DZN O,N
(©) @_ (D) @
OH
OH

. feu o fifies § gfa dra 3ud B o e

sAfirepties & fohd diaT B

0 0

(A) 4 (B) 2 (A) 4 (B) 2

(€) 3 (D) 1 (C) 3 (D) 1
059. The paramagnetic species is : . T 9 IgehE B

(A) KO, (B) SiO, (A) KO, (B) SiO,

(C) TiO, (D) BaO, (C) TiO, (D) BaO,
060. Which one of the following has the highest . T 9 femehy Tife Sifgar stfteag 27

Nucleophilicity ?

(A) F~ (B) OH~ (A) F~ (B) OH~

(C) CH3 (D) NHz (C) CHs (D) NH:
2-BB | [ 16 ] | Contd...
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061. Inview ofarG“ for the following reactions : 061. T stfufspareti & fam A GO F = § @A
PbO, + Pb— 2PbO, A,G’<0 70 A (@) 3R o7 F forw R rfadiwm
SnO, + Sn — 2Sn0, A,G">0 sraeTu 3ifersh SAfiyerafors & 7
Which oxidation state is more characteristic for PbO, + Pb— 2Pb0O, A.G’<0
lead and tin ? SnO, + Sn — 2500, A.G'>0
(A) For lead +4, for tin +2 (A) G A %IQ +4, fa %IQ +2
(B) For lead +2, for tin +2 (B) e+ %IQ 2, fa 1%111 +2
(C) For lead +4, for tin +4 (C) T8 % ToU +4, &7 o ToTu +4
(D) For lead +2, for tin +4 (D) ™€ & foru +2, fea % foru +4 p7aS

e
CH
i i g o PN

062. Which of the following compounds will exhibit 062. Fre1 § & FE1 Afire sfid geearaar veRta .;E"E.J’
geometrical 1somerism? 7 (®)
(A) 1-Phenyl-2-butane (A) 1-FeTset-2—=p N
B) 3-Phenyl—1-butene R
( (B) 3 -THAa-1-=2H 1
(C) 2—PheT1yl—]—butene (C) 2_%_]_% ) -
(D) 1,1-Diphenyl-1-propene (D) 1,1-ST8 THATSA- 1-9TdH :

063. At Critical Micell Concentration (CMC), the | 063. hifceh THEE HTgdl W Hhe~E 7 :
surfactant molecules: (A) 3T9gfed B8 8
(A) decompose (B) faifeg 8 &

(B) dissociate (C) Tt B 8
(C) associate : 5
(D) become completely soluble (D) B

064. Which one of the following will be reactive for | 064. gtk T AAfufehan o o = 0 9 oo framfia
Perkin condensation ? BT ?

(A) CgHs—CHO (B) CHy—0~O)-CHO (A) CgHs—CHO (B) CH,~0~O)~CHO
(€) CH; <)~ CHO (D) 0,N<O)- cHO (C) CHy <)~ CHO (D) O,N <O~ cHo

065. The pair of metal carbonyl complexes that are | 065. 9rg A ;@'a IR R HITET I gHSFH
isoelectronic 1s ; 2.

(A) [Co(CO),]" and Ni(CO), (A) [Co(CO),]” HRNi(CO),
(B) Ni(CO), and V(CO), (B) Ni(CO), 3R V(CO),
(€) [Cr(CO)¢] and V(CO)q (C) [Cr(CO).] 3R V(CO),
(D) [Fe(CO)4] and Cr(CO), (D) [Fe(CO),]” 3R Cr(CO),

066. Which one of the following has (have) octahedral | 066. fr o o forgeh [fpeht sTederehia STl . g
geometry ? _ ) B 5
(i) SbCI: (i) SnCI> (i) SbCl (1) S“f_lﬁ
(iii) XeF, (v) 105 () XeFs (tv) 105
(A) (1), (i) & (iii) (B) (1), (i) & (iv) (A) (1), (i1) & (iii) (B) (1), (i1) & (iv)

(C) (i), (i) & (iv) (D) All of these (C) (i), (iii) & (iv) (D) ¥ &
2-BB | [17 ] | P.T.O.
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067. In terms of polar character which one of the | 067, ydffa wefa & ded 4 fr=1 4 wiaan =y ?
following orders is correct? Y Hire
(A) NH; < H,0 < HF <H,S (A) NH; <H,0 <HF <H,S
(B) HES{NH3€H20€HF (B) HES“iNH?}*inO*iHF
(€) HEO{NH:{{HES*‘JHF (C) HQO{NH3{HES‘:HF
(D) HF <H,O < NH; <H,S (D) HF <H,0 <NH; <H,S

068. Among the following compounds of Boron, the | 068. SR = fA=ferfEa Fifepi & & &H ¢ — €1 6 1Y
species which also forms m—bond in addition to I 1 — a9y ot ST §
o—bonds is: )

(A) BE; (B) BH, (A) BF, (B) BH;4
(C) B,H, (D) BF, (C) B,Hg (D) BF;

069. Identify the Bronsted acid in the following equation: | 069. 7= THeRol ¥ FiEds 371 i Ug=H:

PO;” + H,0(1) — HPO? (aq) + OH (aq) PO; + H,0(1) -~ HPO; (ag) + OH (aq)
(A) OH (B) POy (A) OH (B) POy
(C) HPO, (D) H,0 (C) HPO, (D) H,0

070. The number of grams/weight of NH,Cl required to | 070. 99 298K W 9.45 pH % Jm faferm = R
be added to 3 liters of 0.01M NH, to prepare the &+ 1%111 NH,CI + ToRaH M /9’ i 3 ot
buffer of pr9.45 at temsperamre 298K 0.01M NH, * oo o faremar s ?

(K, for NH, is 1.85x107°) (st NH, F fou Ky, =1.85%1075)

(A) 3.53 gm (B) 0.354 gm

C) 455 D) 0.455 (A) 3.53 gm (B) 0.354 gm
(=) 4080 \B) Yaoop (C) 4.55gm (D) 0.455em

071. For the reaction 2HI(g) ~—— H,(g)+ L(g)the | 071. Ml 2HI(g) =—— H,(g) + L,(g) & o
degree of dissociation (o) of HI(g) is related to 1 =Ife (o) ATEITRET fErisH K, o ey B
equilibrium constant K, by the expression:

1+2/K, 1+ 2K, 1+2/K, I+2K,
S S . Ay —5—= B
(A) — B) (&) — B) —
[ 2K 2./K | 2K, 2K,
e I v p C o TR D) ——Y7r
© 1/1+2Kp D) 1+2/K, © V12K, @) 1+2/K,

072. A 6% solution of sucrose C,,H,,0,, is isotonic with | (72. gaﬁt:r Cy,H,,0,, F1 6% IERECRE R RIGEEACIEES
3% solution of an unknown organic substance. The yerd & 3% faoa & 91y guueEE 2| 9
molecular weight of unknown organic substance HTeeh qered 1 e W B
will be:

(A) 342 (B) 684 (A) 342 (B) 684
(C) 171 (D) 100 (C) 171 (D) 100

073. The enthalpy of the formation of CO, and H,O are | 073. CO, 3R H,0 % HYEd ! T w1 HE HAM:
—395k] an.d — 285 kJ.respf:cFive[y and the enthalpy -395 kJ 3R -285 kJ & 31 ufafess ufrg % gad &
ﬂfcombu::;tmn Dfacejtlc Elfi:ld. 1s 869 kJ. The enthalpy 869 kJ 2| vfafee ufie ¥ © £ 5
of formation of acetic acid is:

(A) 235kJ (B) 340 kJ (A) 235kJ (B) 340 kJ
(C) 420kJ (D) 491 kJ (C) 420kJ (D) 491 kJ
2-BB | [ 18] | Contd...
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074. Which of the following is a lyophobic colloid : 074. T 9 O +I991 Ux Zafoarf! HiEe 2
(A) Gelatin (B) Sulphur (A) iy (B) TeH
(C) Starch (D) Gum Arabica (€) T (D) T P
07S. For car battery which one is correct statement ? 075. K <kl 9 o foiuw =g 97 97 2 7
(A) Cathode is Lead dioxide (PbO,) and anode is (A) $UE TS TEITFHES (PbO,) g TAE Wg
Lead (Pb) (Pb) BT &
(B) Cathode is Lead dioxide (PbO,) and anode is (B) FHATE AT SEIFTES (PbO,) Ud UHIE i
Copper (Cu) (Cu) BT 8 L
(C) Cathode is Copper (Cu) and anode is Lead (C) Hdie HW (Cu) T8 THIE A SERATFES g\-f
(D) Cathode is Copper (Cu) and anode is Lead (Pb) (D) eilg HTTT (Cu) U9 TS oI (Pb) BT 2 5{3}
(&)
076. Considering entropy(s) as a thermodynamic | g7¢ T W SEEIGR T T i fordt w=a: ‘E:S:
parameter, the criterion for the spontaneity of any yafda wsEn % fore Gard e ST EE:S: 4
process the change in entropy is : (A) (AS i 1> 0 i
(A) (A Ssystem . ‘ﬁssurmunding )>0 B Wﬁ.ﬁs >0
(B) fﬁlS!:,}f’s'fram. >0 01’11}’ ( ) = &
(€) AS surrounding >0 only (©) Z afET .
(D) (A Ssystem i3 &Ssurmunding )>0 (D) (&Sﬂ? i3 &Sqﬁaﬂ )>0
077. At low pressure and high temperature, the Vander | 077. <hH qId 3R 3= A9 W, 8L 9Tl AHISHTT i
Waal’s equation is finally reduced (simplified) to : HATH HEeliohd IRATdd €9 BAT:
(A) PV_=RT (A) PV_=RT
+ -4 AR a N
(B) (P V”_I)(Vm b)=RT (B) (P+ V,i)(v“” b)=RT
(€) P(V, -b)=RT (C) P(V_ —b)=RT
a = d_ _
(D) (P+ v,ﬁ)v*” RT (D) (P+ Vi)‘»ﬂ”—RT
078. Which graph represents the zero order reaction [ 078. W= # ® HEET U% I Hile AR
[A(2) - B(2)] [A(g) - B(g)] #I AT B
* ds | t ds |
(A) [B] (B) dt /_f (A) [B] (B) dt /—’
t t t t
(C) t D) ty, (©) D) ty,
[A] 0 [A] o ' (Al 0 [A] 5
079. Which of the following compounds is insoluble | 079. = ¥ & wF@T Aifies T 9rg HQSO4§I ot stfaer
even in hot concentrated H,50,,? 27
(A) Ethylene (B) Benzene (A) Ufsre= (B) dsiH
(C) Hexane (D) Aniline (C) e (D) UfieH
2-BB | [19] | P.T.O.
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080. The half life of Th*? is 1.4 x 10'% years and that | g0, Th232 &1 31 3 &1 7 1.4 x 1010 7§ B 3%

of its daughter element Ra?3® is 7 years. What 8 I A dcd Ra238 Y e 3y 7 99 B |
amount (most nearly) weight of Ra**® will be in Ra238 i fradl (we@ @fluaw) AEm Th232 &
equilibrium with 1gm of Th?32 ? lgm W1 3 €19 G H BAf 7
(A) 5x10710%m (B) 5.0gm (A) 5x 10 10gm (B) 5.0 gm
(C) 1.95x 107 gm (D) 2x10710gm (C) 1.95% 107 gm (D) 2x10710gm
081. Which of the following electron has minimum energy? | 081. fF=ifcif@a o & s=E Seraga AdH Foll TEAT 8 7

&

Y (&) w=3, I=2, m=-2,s=+% (K) =3 1=, m=-2,5=+%

O

R 1 |

\El}’ (B) n=4, [=0, FI’IZO,S:+§ (B) n=4, [=0, m=0,5=+5

OF , :

W5 _ . _ s _ _ _ el

% C) n=4, I=1, m=+l,5=+ (C) n=4, I=1, m=+l,5=+
(D) n=5, 1=0, m=0,5=+% (D) n=5, 1=0, m=0,5=+%

082. Total number of stercoisomers of the following | 082. = i & Fifam s & 9T HAW: 2
compounds are respectively :

OH OH
OH OH
AA AN AAA AV
OH
OH ; s
() (i) 2 0
(A) 4,6 (B) 8,0 (A) 4,6 (B) 8,0
(C) 6,6 (D) 8,8 (C) 6,6 (D) 8,8

083. Which of the following is a monomer of Dacron: 083. T 1 U 1991 THH & Thddh g 7

(A) CH,—CH- CH=—CH, (A) CH,—=CH-CH=CH,
Cl Cl
|
(B) H,C=C- CH=CH, (B) H,C=C—-CH=CH,
(C) COOH —( }—(100}1 (C) COOH —< >—COOH
(D) HOH,C—- CH,OH (D) HOH,C— CH,0H
084. Which of the following is a meso compound ? 084. = O o sl9a s difis 2 7
(A) trans—1, 4—dimethylcyclohexane (A) TE -1, 4- SEAfITHEFATRFE
(B) cis—1, 3—dimethylcyclohexane (B) i@ -1, 3- sEafIaHmEadgaa
(C) trans—1, 3—dimethylcyclohexane (C) TE -1, 3- SEAfITHEFARTE
(D) cis—1, 4—dimethylcyclohexane (D) fom -1, 4- sEAfIaHETFdgaE
2-BB | [20] [ Contd...
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085.

IUPAC name of the following is : 085. 91 =1 IUPAC A 2 :
CH; CH, CH — CHCH,CH; CH, CH, CH — CHCH,CH,
| | | |
CH, CHO CH, CHO
(A) 2.5 B.utyl butenal (A) 2,5 @ﬂﬁf_ﬂ @-q:&dﬂ
(B) 2,3 di ethyl butenal (B) 2, 3 ST Uﬁ]?[ EQ:IFI
(C) 2 ethyl-3 methyl pentanal (C) 2 ul¥e, 3 e Yo
(D) 8 methyl- 2 ethyl pentanal (D) 8 #fere, 2 ufoe deaa
086. Which of the following is Reimer - Tieman reaction? | 086. 71 # & st fm Fmm srfufsran 7 7 o
OH OH 7o
O
. (®)
(A) @ + CHCl, + aq. NaOH —— (A) @ + CHCl; + aq. NaOH —— P
©
OH OH Y%
L©
CHx
(B) @ + CHCI, + alcoh. NaOH —— (B) + CHCIl, + alcoh. NaOH —— r
OCH, OCH;
(C) @ 4 CH-;J COC] anhy. AlCI3 " (C) @ + CH-;, CoCl anhy. AlCI3
OC,H, OC,H;
(D) @/ Conc.H.SO, (D) @/ - Conc.H.SOy4
Conc.HNO; Conc.HNO;
087. The increasing order of the first ionization enthalpies | (087. B, P, S 3 F dcdl &l Y9 A=H9 T=Afeqdi =
of the elements B, P, S and F is: sl g3l A 2.
(A) B<P<S<F (B) B<S<P<F (A) B<P<S<F (B) B<S<P<F
(C) F<S<P<B (D) P<S<B<F (C) F<S<P<B (D) P<S<B<F
088. Some pairs of ions are given below. In which pair, | 088. = &) 3TTIET <6 g fgu mu E, =0 o forad gum
first ion is more stable than second ion ? IAA agi A © 37ferep st & 7
® ® } s D .
(A) H;C—CH— CH; and — CH — OCH; (8) HL—EHR—CH, T “CR=RacH,
® ®
® ®
& &
® @
CHE CH2 . CHE CHE
) O/ il @/ (C) Q/ q O/
H,C—CH- CH; H,C—N-CH, H,C—CH- CH;  H;C—N-CH;,
(D) | and | (D) | e |
H,C~ C— CH; H,C—-C-CH, H,C— C — CH; H,C—C— CH,
® : E ]
089. Which alkaline earth metal compound is volatile ? | 089. 9= o 9 === ariiy e 41q i amsusfiar 2 7
(A) BesN, (B) Mg;N, (A) BesN, (B) Mg;N,
(C) Ca;N, (D) None of the options (C) CasN, (D) T ¥ s forshed T&l
2-BB | [21] | P.T.O.
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090. What is the name of the following reaction? 090. T4 srfufpm ssTam T 8 7
NaOH
HCHO + HCHO RT* CH;0H + HCOONa HCHO + HCHO NﬂfH CH,OH + HCOONa
(A) Hell-Volhard reaction (A) & drears fufsean
(B) Clemmensen reaction (B) FATE ATHEHAT
(C) Cannizzaro reaction (C) e afufsran
(D) None of the options (D) 13 i faspeq &
091. Inorganic graphite is: 091. 3ThTeii-h UFBIEE 3 :
(A) B,N;H, (B) B,H (A) B,N;H, (B) B,H,
(C) BN (D) BF, (C) BN (D) BF;
092. R.ankthe following in decreas_ing order ofbasicstrength: | 92, famy &Y &ty ammed &1 wean 73T A -
) CHy—~ O~ G i CH;—CH;—C=C
() CH;—CH,—S (i) CH;— CH,— S~
(iif) CH;— CH,— CO, (iii) CH,— CH,— CO;
¥) ..CH3 _. CHE_ 0 . e e e [i‘i.f) CH; = CH, — O
(A)Yii=1>1v=1i (B)iv>1>11>1ii (A)ii>i>iv > iii (B) iv > 1> ii > iii
(C)i>1v>ii>ii (D)1>1v>1i1>ii (C)i>iv>ii>iii (D) i > iv > iii > ii
093. Among the given compound choose the two that | 093. = & & gt frehi =1 === L ot b 37 & @12
yield same carbocation on ionization. T e T3 F91 -
Br Br Cj Br Br
Br @ 6/ Br
Br Br
(1) (i1) (iii) (iv) (i) (i1) (i11) (iv)
(A) (i),(iii) (B) (ii),(iv) (A) (1),(111) (B) (i), (iv)
(C) (i),(ii) (D) (ii),(iii) (©) (1),1) (D) (i), (iii)
094. Increasing order of acidic strength of given | 094. fae =ifient i svecfia wmed &1 sgan AT shH 7
compounds s : H OH
OH OH OH OH Of 5 O: : O: "
CN OCH, Cl ) e O q)
(i) (ii) (iii) (iv) (i (1) (1) o
(A) iii<i<iv<ii (B) ii<i<iv<iii (A) Hi<i<iv<ii (B) ii<i<iv<iii
(C) i<iii<iv<ii (D) i<iii<ii<iv (€) i<mi<iv<ii (D) 1<ii<ii<iv
095. Which of the following effects of -NO, group | 095. = fgu g 3] O 9 ¥ ¥ <997 949E
operates on —NH, group in this molecule ? -NO, ¥qg -NH, 98 W gy} g 7
NH, NH,
Me i Me Me @Me
NO, NO,
(A) Only I effect (A) had - IHTE
(B) Only +M effect (B) hadl +M 99T
(C) Only -M effect (C) Had -M I9E
(D) Both-I and —M effect (D) HEI-1 3T M I9Td
2-BB | [22] | Contd...
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096. Which of the following material is known as lunar | 09¢, fa= o 9 1941 ey X Fo% F 90 T JE
caustic ? SEaT g ?
(A) NaNO, (B) AgCl (A) NaNO, (B) AgCl
(C) AgNO, (D)  NaOH (C) AgNO; (D) NaOH
097. Provide an acceptable name for the alkane shown | 097. EiE kAR Qﬁﬂ &1 TEThR M EIH’I";@[:
below :
H CH, CH,CH (CH,), H CH,CH,CH(CH,),
| | | |
CH,CH,CH,CH,— C ——C- CH,CH,CH, CH,CH,CH,CH,—-C C— CH;CH;CH; E:"':
| | | |
CH,CH, H CH,CH; H N
g :fo\
(A) 6-ethyl-2—methyl-5-propyldecane (A) 6-Tfra-2-HfuE -5 SesH a:u:
(B) 5-ethyl-6-methyl-2—propyldecane (B) 5-TfUe-6-HiUA-2-SMfTerSHA g‘gf
C) 2-Ui¥A—6-HIIA—2-SrTUcTgeh ®
(C) 2—ethyl-6-methyl-2—propyldecane (©) 2- i ik ggz .
(D) 2-ethyl-6-methyl-5—propyldecane (D) 2-TfI-6-HIIA-5-SfIeTSHA C
” = HO~- HO~
098. D — Mannose = D — glucose i : L2, (A) | 098. D - PN ——— D - TN ——— (A)
Product (A) of above reaction is: IR AfUfshaT =1 3T (A) =:
(A) D-glucose (A) D — Tl
(B) D-fructose (B) D — el
(C) D-Talose (C) D -3as
(D) D-Idose (D) D - e
099. What is the product in the following reaction ? 099, = Afsrfspan =1 3came @TIT 7
OH OH
(NH4)2 C[’g 0? © (NH—P)E Cl'z 0,
HESO4 F HZSOq
(A) Benzoic Acid (A) SI=A15eh 3T
(B) Benzoquionone (B) S=SAITeR1
(C) Cyclohexane-1-one (C) HrEFATRTHA-1-3H
(D) Benzoic sulphate (D) SIS Hethe
100. How many bonds are there in : 100. feu U HY] H E&l Trad @g & 7
©/\\/ @/\/
(A) 140, 8n (A) 140, 8n
(B) 18c, 8n (B) 18c, 8w
(C) 190, 4n (C) 190, 4n
(D) 140, 2n (D) l40,2n
2-BB | [ 23] | P.T.O.
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Biology / SiCMIES
101.  Juvenile harmone is secreted by : 101. TR M &1 =€U =@ @ Bl B
(A) Thyroid gland (A) 9rliss Uy
(B) Thymus gland (B) ammwE ufyr
(C) Adrenal gland (C) ufgta ufy
(D) Carpora allata (D) HRIL TATT
102.  Which organ is concerned with the formation | 102, @@ # == @ e Fmm & Fwifia
of urea in rabbit ? 27
(A) Blood (A) Th
(B) Kidney (B) g%
(C) Spleen (C) TArar
(D) Liver (D) Ihd
103. In mammals which organ acts as blood | 103, w@auifEi § $HET 37 sog a9 6 &
bank ? ®F HAl 8¢
(A) Heart (A) &
(B) Lung (B) W%g
(C) Liver (C) eat
(D) Spleen (D) Teftat
104. What is chemical composition of fertilizin? 104. WA 1 TEEAES gged w1 27
(A) Lipoprotein (A) ToddE
(B) Glycoprotein (B) TASHIUIH
(C) Mucoprotein (C) TIHIUEH
(D) Chromoprotein (D) SHIETHEH
105. Rh factor is present in : 105. Rh factor 3ufeya =1 & -
(A) All vertebrates (A) Gt wareferar o
(B) All mammals (B) @t it #
(C) All reptiles () aft wiga H
(D) Man and Rhesus monkey only. (D) &% 7gm wad fow o= A
2-BB| [24] | P.T.O.
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106.  Which of the following characteristic was not | 1906, wHex & dtgi W fHu 7w yIm 4 dAed
used by Mendel in his experiment on Pea 1 = 9 9 59 agu &1 IUgm A8
plant? o 7
(A) Flower colour (A) B I bR
(B) Seed coat colour (B) WSmewu w1 T
(C) Pod colour (C) el T T
(D) Fruit shape

(D) ®A I AR -
N
(@)
107.  Ascaris protects itself against digestive enzymes | 107, U&H{E TWI &1 WM & Y=k USAGHT o g:-:

O
of the host by: 3% g g9 B E:g

l:'\/
(A) Mucus (A) SHSHT E:{"(I:.‘l)‘

e
(B) Antienzyme (B) TUSTEy EE%\.

™
(C) Antienzyme and cuticle (C) ULUSEy U4 qq;l\ﬁ.rm i
(D) Cuticle (D) qql—ﬁm

108. HIV that causes AIDS first starts destroying : | 108. AIDS 399 @ gl HIV H&d 98l A8

(A) Leucocytes G
A) TIHEEE H
(B) Helper T lymphocytes )
(B) &R T-TorrhiEmsel
(C) Thrombocytes
(C) g
(D) B- Lymph{){:ytes (D} B _-ﬁ:ﬂ:qﬁa-lga
109. Which one of the following is absent in | 109, w=st o f=fafEga o 3 aﬂqﬁlﬁ a9
i} *
sponges’ (A) B SR
(A) Nerve cell .
(B) ®AG HITThT
(B) Sensory cell iR
. 3 o HITITeI
(C) Gland cell (©)
(D) All of the options (D) fau my & foeped

110.  The signals for parturition originate from : 110. &9 b1 2q Hehdl &1 3T IFY AT 2

(A) Fully developed foetus only (A) wad i fosfaa 4 @
(B) Placenta only (B) a9 °
(C) Placenta and fully developed foetus (C) 9 qa1 QU Taehfad T o
(D) Oxytocin harmone (D) eHIefe BMH
2-BB| [25] | Contd...

gcollegeduniaﬁ

T



111.  Kala-azar is caused by : 111. AT 39 1 $FEF 2
(A) Trypanosma cruzi (A) Teuaram Sl
(B) Leishmania donovani (B) WMIHAT ST
(C) Trypanosoma brucel (C) Teuaramn EGll
(D) Trypanosoma garnbeinse (D) feuaramT T
:5:; 112. Hydra can not digest : 112. &5 & U= Hehdl B
:E'}:;E' (A) Proteins (A) =
:Sﬁ (B) Fats (B) amd
:&J (C) Starch (C) wE
}"O:ﬁ (D) Sugars (D) IEhT
113.  An earthworm has : 113. UH gu H Bd 2 :
(A) one pair of eyes (A) = H UH AL
(B) two pair of eyes (B) 9= HI T AL
(C) four pair of eyes (C) = &t =R e
(D) no eyes (D) 9 & Bd 8
114.  Which insect is useful for us? 114. &A1 $ie AR fau Iwmft &7
(A) Periplaneta (A) yfeeer
(B) Musca (B) HEhI
(C) Bombyx (C) wfrerg
(D) Mosquitoes (D) H==X
115.  The sequence of cell cycle 1s : 115. Iy =6 1 HH B
(A) S, M, G, and G, (A) S, M, G, 3R G,
(B) Gy, G5, S and M (B) G, Gy, S I M
(C) Gy, S, G, and M (C) G, S, G, 3 M
(D) M, G,, G, and S (D) M, G, G, 3 S
2-BB| [ 26 ] | P.T.O.
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116.  “Green glands” found in some of Arthropodes | 116, & sngdiEl W= # 4 WW @l M=
are helpful in : JQQH” Hee &idl @
(A) Respiration (A) 499 °
(B) Digestion (B) 9r=A ﬁ
(C) Excretion (C) IedsH ¥
(D) Reproduction (D) YS9 H
117.  One of the ex-situ conservation method for | 117. HeheUEaATadl o W-FqH TV <hl Uk EEEHE
endangered species is : fafr 2 - EEE;
(A) Wildlife sanctuarie (A) TS AN :;:OH:
(B) Biosphere Reserve (B) “ieHsd e ES:
(C) National park (C) T¥H qTeh ES:
(D) Cryopresevation (D) T= ama gfweor :
118. What is Epiblema? 118. Ufisemr I 27
(A) Epidermis of root (A) HA 1 rferr
(B) Epidermis of leaf (B) uet <t erferend
(C) Epidermis of stem (C) ¥ i JAfu=d
(D) Epidermis of flower (D) g9 =t Hfered
119.  Widal test is carried out to test : 119. T 2= AR P 1 = M 1 s -
(A) AIDS (A) AIDS i
(B) Typhoid fever (B) TIPES A i
(C) Malaria (C) Tefr &6l
(D) Diabetes (D) qgﬁg i
120.  Which one feature is common to leech, | 120. =ET Uk AHY Sk, hiRUE AUl ﬁﬂ ye i
cockroach and scorpion ? A 27
(A) Nephridia (A) Fahe
(B) Ventral Nerve cord (B) 3 GIEED] T
(C) Cephaliztion (C) Frivam
(D) Antennal (D) #fiepTu
2-BB| [27] | Contd...
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Which of the following group of plants exhibit | 121, fr= & & @A ey wqg § wfa fafaea
more species diversity? FAfges U8 I 27
(A) Angiosperms (A) ITaqersi
(B) Algae (B) &Ted
(C) Bryophyta (C) STIATHTZ
(D) Fungi (D) <hdeh
o
:'c"}:;* 122.  Spore bearing leaf is called 122. ooy gRer HE el o FEa ? o
{C:)ﬁ (A) Sorus (A) drd
SCH}E: (B) Indusium (B) TERRM
Oz (C) Ramentum (C) W=d
(D) Sporophyll (D) TR

123.  Who proposed the natural system of plant | 123,

qTeq SRl Sl WTehfdeh Ugld fohd ST

classification?

(A) Carolois Linnaeus
(B) John Hutchinson

(C) Bentham and Hooker
(D) Oswald Tippo

$r oft?

(A) HUaw TafF=m
(B) Sifed gfeed
(C) =9 Td FH
(D) 3EETds  feoan

Coacervates are : 124. HIUHdZH Bd 3:
(A) Lipoproteins (A) A
(B) Mixture of Ammonia, carbohydrates and i
(B) M, HIEEEe T S h1 B0
water
(C) Colloidal suspensions (C) wremssa frems
(D) Fatty acids and nitrogenous compound (D) I&1 3 Ud ?I?@'Eﬁiﬁ DITES
Medulla oblongata is responsible for : 125. WAl ITeAPTEl ITERT 8
(A) Thermaregulation (A) a9 frEwr & fou
(B) vision (B) g & fomu
(C) memory (C) Fﬂﬁl e TQQTQ
(D) balance (D) 9qed & fou
2-BB| | 28 | | P.T.O.
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126. The cockroach of genus Blatta is also called : | 126. =sATT 91 & HiHUT (ﬁ-ﬁﬁ%’) H gz ot
(A) German cockroach %E A B
(B) Australian cockroach (A) SHA ShTehLISt
(C) Oriental cockroach (B) aﬁ@f\@m:{ BT
| (C) e it
(D) American cockroach W s
| o
127.  Groups of five kingdom scheme are : 127. Y99 wE ufeear o ool g 2 {EES‘;
(A) Virus, Bacteria, Fungi, Plantae and Animalia . |
(B) Monera, Protista, Fungi, Plantae and & %E"ﬂ, t“ﬁmﬂ, Py ST T B EEEE
Animalia (B) T, SMEE, s, Tt T WAL iESE
(C) Bacteria, Fungi, Plant and Animal (©) Gﬁaﬂ! %%, WeT T Sid ES:
(D) Fungi, Protista, Plant and Animal (D) =hdeh, ‘SI:I'&'FET, Ueq U Sl :
128.  Hygroscopic roots are found in : 128. SSAUE W U S §
(A) Trapa (B) Hydrilla (A) 2 (B) @ #
(C) Orchid (D)  Typha (C) =ifhs @ (D) TEE H
129.  Fruit of Mango is a : 129. W FT B B
(A) Pepo (B)  Pome (A) i (B) UM
(C) Berry (D) Drupe (C) =l (D) 2
130. Passage cells are found in tissue : 130. WU HIPEEN 39 Fds § Y5 I 3
(A) Epidermis (A) 3rferd
(B) Xylem (B) STger™
(C) Endodermis (C) 3T=qgd
(D) Pericycle (D) URTY
131.  Adenosine is a : 131. ufenfia 2w
(A) Nitrogenous base (A) TSI AR
(B) Nucleoside (B) :Iﬁ-f\z:-rqﬁmsg
(C) Nucleotide (C) =qfFeamemse
(D) Nucleic acid (D) fFes 37
2-BB| [29] | Contd...
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132.  In blue green algae, photo synthesis takes | 132, i gf@ SO & v @soww $i T

place in : Hq Bl B
(A) Chloroplast (B) Lamellae (A) FARARE  (B)  Afged
(C) Heterocyst (D)  Carotene (C) g (D) A
133.  What is plasmid? 133. TAISHE &1 BiAT &7
2 (A) Bacteria (A) e
5;;5 (B) Virus (B) TesTo]
:c:)ﬁ (C) Chromosomal DNA segment (C) TEHI DNA @3
PAS :
:E;:: (D) Extra chromosomal DNA segment (D) AN REE DNA TS
134.  In Bryophyta, a specialized organ of the | 134, wiwEer d dfiwnEfe w1 s fa9y
sporophyte for attachment to the gametophyte I T T FWHIGUE H SASdl g haedl
is called : g
(A) Stalk (B)  Foot (A) ik (B) ®e
(C) Seeta (D)  Rhizoids (C) e (D) UsSIIgeH

135.  Inverted omega shaped vascular bundles are | 135, 3@ M IHR & Hdgdl dUSad YU Fd

found in : 2
(A) Cycas corolloid root (A) drgsh" YA Hod
(B) Cycas stem (B) Hrsshd o1
(C) Cycas rachis (C) wrshd ifeh|
(D) Cycas leaflet (D) ©TSHH YUieh
136.  Apogamy results in formation of : 136. 9IHA % YRUTIEEY s 8
(A) Diploid Sparophyte (A) Tgma  sfismogiig
(B) Diploid Gametophyte (B) Tafora gmehiglg
(C) Haploid Sparophyte (C) ailﬂ'fﬁﬂ W’Tﬁ
(D) Haploid Gametophyte (D) 3TN JHhIGNG
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137.  Cuscuta is a : 137. HEH 2 TF
(A) Total stem parasite (A) YU TaF9 OISiEl
(B) Partial stem parasite (B) IR T YLl
(C) Total root Parasite (C) U T ULl
(D) Partial root Parasite (D) ATMF JA  HLSia
138.  Hydathodes are meant for : 138. SRyl 1 & B %)
(A) Respiration (A) F94 E:S:
(B) Guttation (B) Tergamd ES:
(C) Transpiration (C) aATSIeESH E:O::
(D) Photo respiration (D) YehIsiid @&+ 52:
O
139. A molecule of ATP is structurally similar to a 139. T&k ATP 37 TEEEHS ®9 H E'H% g
molecule of : EiGLIE
(A) RNA molecule (A) RNA 37
(B) DNA molecule (B) DNA 319
(C) Amino acid (C) UfiFr 31m
(D) Fatty acid (D) 991 3=
140. Which colour of light is most effective for | 140. Y=m© =1 ST T YHE %5390 ﬁﬂ
photo synthesis? Tgifas w9El 87
(A) Blue (A) e
(B) Green (B) &0
(C) Red (C) oI
(D) Violet (D) STt
141.  Imbibtion is a : 141. SI<:TU B T
(A) Chemical Process (A) TEMEMS Fisha
(B) Biological Process (B) Sfaes ufsran
(C) Physical Process (C) otfass wfsham
(D) Biochemical Process (D) SeEmEeS Ufsha
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142. Which of the plant harmone is extracted | 142, 1991 Yey BHH Has o Hssia forar mn
from fungus? a7
(A) Auxin (A) STFEH
(B) Gibberellin (B) fosifer
(C) Cytokinin (C) HTSEIHTEHA
(D) 2, 4-D (D) 2, 4-D
o
:'c"}:;* 143. What is emasculation? 143. st #9127
:5:? (A) Removal of petals (A) STRIedl ! &M
ic"}::l (B) Removal of sepals (B) @Al 1 BMT
%f (C) Removal of anthers (C) WFTEhISN 1 BSHI
I (D) Removal of ovary (D) ITEWE I BIHI
144. Epinasty movement is found in : 144. mgﬁ—g,r—d:[ nfg 9 S B o
(A) Leaf sensitivity in Mimosa pudica (A) @é Hg o qof gﬁq
(B) Drooping of bud (B) WhicTeh! T HI SRl
(C) Opening of flower (C) T59 o N CEIl
(D) Young leaves of Fern (D) %A hl T qfei
145.  Genes do not pairs in : 145. = gm # & 2@ F
(A) Somatic cells (A) I HIfsERT H
(B) Gamete (B) =& H
(C) Fertilized egg (C) Tfeq 31 #H
(D) Zygote (D) FEAS H
146.  Ultimate source of genetic variability are : 146. AN fafiEar &1 ww @d 3
(A) Mutation (A) IcqiEd
(B) Genetic drift (B) 3:[@3[&:13; HAYATE
(C) Gene flow (C) M YdTE
(D) Transformation and translation (D) YU Tg yga-raw
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147.  Which technique is used for the test tube | 147, el foryy wEwn & fou S T

baby program? TEAATA hI Sl 27

(A) Gameti intra fallopian transfer (A) THH HAM A=

(B) Zygoti intra fallopian transfer (B) Il 31 HAT  TIET=OT

(C) Intra cytoplasmic sperm injection (C) 3T=d: hifyreR goud] TEHIT] ESERIE]

(D) Intra uterine insemination (D) 31=a: TyieeEfl e

©

148. Main function of tapetum is : 148. <9l # T HE 7 'EE:S:

(A) Protection (A) T EiE?

(B) Nutrition (B) 99Ul 50":

(C) Pollination (C) AT EEE

(D) Fertilization (D) Frrem pa
149.  Dinosaurs disappeared during : 149. SEAER ¥ SUH IH T

(A) Cretaceous (A) Toreferm

(B) Permian (B) Wi

(C) Jurassic (C) Ui
(D) Triassic (D) “g'ggﬁ:ﬁ;

150. Maximum absorption of water occurs in : 150. S 1 Afepay 9NN B6@T B :
(A) Colon (A) e H
(B) Rectum (B) HETI™ H
(C) Stomach (C) 3w o
(D) Small Intestine (D) B 3IE |
2-BB| 133] [ Contd...
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